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e Comparing and contrasting data
¢ Describing changes in numbers
e Grammatical range and accuracy

¢ Describing numbers and figures accurately



Academic Writing Task 1 P.100

Comparing and contrasting graphs and tables



1 Avoiding repetition P.100
1.1 A good way to avoid repetition is to use synonyms. Which words A-F
could be used to replace the underlined words in sentences 1-6?

1 There was a sharp decrease in sales between 2007 and 2010.
2 The figures fell steadily over the next 10 years.
3 It is predicted that the numbers will begin to increase from 2025.

A stay

B indicate

C information
D dropped

E rise

F reduction
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1 Avoiding repetition
1.1 A good way to avoid repetition is to use synonyms. Which words A-F
could be used to replace the underlined words in sentences 1-6?

4 1t is predicted that the numbers will remain the same for the next ten
years.

5 The charts show how many people travelled by train in 1950 and 2000.

6 According to the data in the table, 2005 was the most successful year.
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1 Avoiding repetition P.100
1.1 A good way to avoid repetition is to use synonyms. Which words A-F
could be used to replace the underlined words in sentences 1-6?

4 1t is predicted that the numbers will remain the same for the next ten
years. A

5 The charts show how many people travelled by train in 1950 and 2000. B

6 According to the data in the table, 2005 was the most successful year. C
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1.2 Replace the underlined words in the candidates' answers with a P.101
suitable phrase from the box to improve the range of vocabulary.

A how many

B a group of people of a range of ages
C the countries they come from

D the number of vehicles on the road
E have taken courses at

F different sports preferred by

G how much people spent

1 The graph shows traffic growth in the Netherlands between 1960 and 2010.
The graph indicates the changes in traffic in the Netherlands from 1960 to
2010.

2 The bar chart shows the sporting preferences of 100 adults, boys and girls in
Manchester.

The bar chart tells us the sporting preferences of 100 adults, boys and qgirls
in Manchester.




1.2 Replace the underlined words in the candidates' answers with a P.101
suitable phrase from the box to improve the range of vocabulary.

A how many

B a group of people of a range of ages
C the countries they come from

D the number of vehicles on the road
E have taken courses at

F different sports preferred by

G how much people spent

1 The graph shows traffic growth in the Netherlands between 1960 and 2010.
The graph indicates the changes in traffic in the Netherlands from 1960 to
2010. D

2 The bar chart shows the sporting preferences of 100 adults, boys and girls in
Manchester.

The bar chart tells us the sporting preferences of 100 adults, boys and qirls
in Manchester. F;B




1.2 Replace the underlined words in the candidates' answers with a P.101
suitable phrase from the box to improve the range of vocabulary.

A how many

B a group of people of a range of ages
C the countries they come from

D the number of vehicles on the road
E have taken courses at

F different sports preferred by

G how much people spent

3 The graphs show the number of students that have attended the college
since 1980 and their different nationalities.
From the graphs, we can see the number of students that have attended the
college since 1980 as well as their different nationalities.

4 The two pie charts show the average household expenditure in the US in
1900 and in 2000.
The pie charts reveal the average household expenditure in the US in 1900
and 2000.




1.2 Replace the underlined words in the candidates' answers with a P.101
suitable phrase from the box to improve the range of vocabulary.

A how many

B a group of people of a range of ages
C the countries they come from

D the number of vehicles on the road
E have taken courses at

F different sports preferred by

G how much people spent

3 The graphs show the number of students that have attended the college
since 1980 and their different nationalities.
From the graphs, we can see the number of students that have attended the
college since 1980 as well as their different nationalities. A;E;C

4 The two pie charts show the average household expenditure in the US in
1900 and in 2000.
The pie charts reveal the average household expenditure in the US in 1900
and 2000. G




Introduction - structure

S+V

The chart(s) show(s)

The graph(s) below show(s)

The data provides the information on

The diagram(s) show(s)

The bar(s) show(s)

The pie chart(s) show(s)

reveal / examine / illustrate / compare / present
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2 Comparing and contrasting data
2.1 Look at this Writing Task and then answer the questions.

The bar chart below shows the net worth of the UK from 2000

to 2010 according to three different sectors.
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1. What do the figures on the left measure?

2. Why does the number 1,000 appear twice?

3. Which set of figures shows what is happening in the country as a
whole?

P.102
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1. What do the figures on the left measure? The net worth of three
different sectors in the UK in billions of British pound.

2. Why does the number 1,000 appear twice? One has a positive value
(above the line) and one has a negative value (below the line).

3. Which set of figures shows what is happening in the country as a
whole? The UK total

P.102



2.3 Complete the sentences with the most appropriate tense of the
verbs in brackets.

1 The figures for UK households (remain) fairly steady
between 2000 and 2002 then (begin; increase), By 2007, UK
household wealth (rise) from £4,500 billion to just under
£7000 billion.

2 Between 2000 and 2007, both the government and household
Wealth (show) positive figures that gradually
(increase) over time.

P.103



2.3 Complete the sentences with the most appropriate tense of the
verbs in brackets.

1 The figures for UK households remained fairly steady between 2000
and 2002 then began to increase, By 2007, UK household wealth had
risen from £4,500 billion to just under £7000 billion.

2 Between 2000 and 2007, both the government and household
Wealth showed positive figures that gradually increased over time.

P.103



2.3 Complete the sentences with the most appropriate tense of the P.103
verbs in brackets.

3 While both the household and government net wealth (drop)
significantly in 2008, the government's net worth (fall) so
much that it actually (go) into negative figures in 2010.

4 Between 2000 and 2010, the total net worth of the UK (follow)

a similar pattern to that of the households and the government.



2.3 Complete the sentences with the most appropriate tense of the
verbs in brackets.

3 While both the household and government net wealth dropped
significantly in 2008, the government's net worth fell so much that it
actually went into negative figures in 2010.

4 Between 2000 and 2010, the total net worth of the UK followed a
similar pattern to that of the households and the government.

P.103



2.3 Complete the sentences with the most appropriate tense of the
verbs in brackets.

5 Although the net worth of businesses in the country (improve)
from 2000 to 2002, this trend (not last) long and
(begin; worsen) again only a year later.

6 From 2005 to 2007, although the rest of the country
(experience) continued growth, the wealth of businesses
(return) to the levels of 2000.

7 The data for the business community (reveal) the opposite
trend to that of the rest of the country. At the same time that the
wealth of households and the government (grow), the wealth

of businesses (decline).

P.103



2.3 Complete the sentences with the most appropriate tense of the
verbs in brackets.

5 Although the net worth of businesses in the country improved from
2000 to 2002, this trend did not last long and began to worsen again
only a year later.

6 From 2005 to 2007, although the rest of the country experienced/was
experiencing continued growth, the wealth of businesses returned to
the levels of 2000.

7 The data for the business community revealed/reveals the opposite
trend to that of the rest of the country. At the same time that the
wealth of households and the government was growing, the wealth of
businesses was declining/declined.
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3 Grammatical Accuracy - describing numbers and figures

accurately
3.4 Choose the correct preposition from the box to complete the
sentences below. You may use some prepositions more than once.

in of to for from

1 The increase car use was accompanied by a decline in the
use of public transport.

2 The table shows the number students enrolled at the school
between 1960 and 1990.

P.105
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public transport.
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3 Grammatical Accuracy - describing numbers and figures

accurately
3.4 Choose the correct preposition from the box to complete the
sentences below. You may use some prepositions more than once.

in of to for from

3 Approximately 70% women have experienced this as
compared to only 30% men.
4 The figures train and bicycle use reveal a steady drop in

these types of transport.

5 The figures had increased 35% over 60% within five
years.

P.105



3 Grammatical Accuracy - describing numbers and figures P.105

accurately
3.4 Choose the correct preposition from the box to complete the
sentences below. You may use some prepositions more than once.

in of to for from

3 Approximately 70% of women have experienced this as compared to
only 30% of men.

4 The figures for train and bicycle use reveal a steady drop in these types
of transport.

5 The figures had increased from 35% to over 60% within five years.
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